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Bachelor of Arts (B.A.) (Part-111) Sixth Semester Examination
ECONOMICS (INDIAN ECONOMY—II)
Optional

Time : Three Hours] [Maximum Marks : 80

N.B. :—

(b)
(©)
2. (9

(b)
(©)

(1) Attempt ALL questions.
(2) All guestions carry equal marks.
(3) Write correct question numbers.

What is Public Revenue ? What are the sources of Public Revenue ?
OR

Explain the classification of Public Debt.

Write a note on GST.

What do you mean by Foreign Direct Investment ? State its merits and demerits.
OR

Explain the effect of BRICS on Indian Economy.

State the meaning of Bi-lateral and Multi-lateral trade and distinguish it.

3. Answer the following questions in short (any FOUR) :

(@)
(b)
(©)
(d)
(€)
(f)

State the reasons for failures of Economic Planning in India
State the objectives of NITI Ayog.

What is Regional Planning ?

What is Liberalization ?

Write the objectives of SEZ in India.

Write any four characteristics of Economic Survey.

4. Answer the following questions in short (any FOUR) :

(@
(b)
(©)
(d)
(€)
(f)

Write the indicators of Economic Development.
Explain the concept of Sustainable Development.
What is Human Development Index ?

What are the components of Inclusive Growth ?
Explain the concept of Economic Growth.

Write note on ‘Gender Development Index’.

5. Choose correct option for the following multiple choice objective questions (All compulsory) :

(i)
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Who gets benefited from Inclusive Growth ?
(@) Government Servant (b) Industrialist
(c) Rich People (d) Underprivileged People
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(i) What is the main objective of all Economic processes ?

(@ Human Development
(c) Regional Development

(iili) Main objective of privatization is :
(@) Socia Benefit

(c) Economic Benefit (d) None of these
(iv) Which of the following is not included in new economic reforms ?

(@) Privatization (b) Liberalization

(c) Globalization (d) Nationalization
(v) __ isimposed for Socia and Administrative Services.

(@) Fine (b) Tax

(c) Duty (d) None of these
(vi) GST is__ tax for the country.

(@) Indirect (b) Direct

(c) Above (a) and (b) (d) None of these
(vii)Intheyear _ WTO was established.

() 1947 (b) 1951

(c 1971 (d) 1995
(viii) How is balance of payments of India ?

(@) Favourable (b) Unfavourable

(c) Balanced

CC—3547 2

(b)
(d)

(b) Personal Benefit

(d)

Economic Development

None of these

None of these
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o
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(i) &a sl g ge s v 7

CIRGIEEREEI] @) sife e
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(31) @R () e

() SR (3) TR
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